
Equalities (A)Find the value of each unknown.
2 + 9 = 6 + ♠ 4 + 3 = ♦ + 2
6 + ∇ = 9 + 4 7 + 5 = 8 + ⎔
⦿ + 5 = 5 + 9 ⌓ + 9 = 8 + 9
7 + 5 = □ + 5 4 + 0 = ⊙ + 4
⊙ + 4 = 9 + 4 4 + 8 = ♡ + 7
7 + 4 = ⊙ + 3 1 + ⎔ = 3 + 1
3 + ▭ = 7 + 2 0 + 0 = ⌷ + 0
2 + 2 = ⎔ + 4 0 + ⧉ = 1 + 6
2 + 9 = ∆ + 9 4 + 5 = ⧖ + 3
0 + ⌓ = 1 + 5 □ + 1 = 2 + 0
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Equalities (A) AnswersFind the value of each unknown.
2 + 9 = 6 + ♠ 4 + 3 = ♦ + 2♠ = 5 ♦ = 56 + ∇ = 9 + 4 7 + 5 = 8 + ⎔∇ = 7 ⎔ = 4⦿ + 5 = 5 + 9 ⌓ + 9 = 8 + 9⦿ = 9 ⌓ = 87 + 5 = □ + 5 4 + 0 = ⊙ + 4□ = 7 ⊙ = 0⊙ + 4 = 9 + 4 4 + 8 = ♡ + 7⊙ = 9 ♡ = 57 + 4 = ⊙ + 3 1 + ⎔ = 3 + 1⊙ = 8 ⎔ = 33 + ▭ = 7 + 2 0 + 0 = ⌷ + 0▭ = 6 ⌷ = 02 + 2 = ⎔ + 4 0 + ⧉ = 1 + 6⎔ = 0 ⧉ = 72 + 9 = ∆ + 9 4 + 5 = ⧖ + 3∆ = 2 ⧖ = 60 + ⌓ = 1 + 5 □ + 1 = 2 + 0⌓ = 6 □ = 1Math-Drills.Com



Equalities (B)Find the value of each unknown.
5 + 0 = 2 + ♠ 0 + 3 = 2 + ⧖
0 + ⨳ = 6 + 1 ∎ + 7 = 7 + 9
⌷ + 1 = 1 + 1 ⨳ + 1 = 7 + 2
6 + 1 = 6 + ⊞ 9 + 6 = ⍟ + 9
5 + 8 = 7 + ◊ 5 + ♠ = 1 + 9
8 + ♡ = 7 + 1 1 + 0 = ⧖ + 1
♡ + 6 = 6 + 8 7 + 7 = ∆ + 6
∆ + 7 = 8 + 8 □ + 6 = 5 + 2
5 + 2 = 5 + ♠ 5 + 0 = 4 + ⊞
4 + 6 = 6 + ♦ 7 + ⧉ = 3 + 9
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Equalities (B) AnswersFind the value of each unknown.
5 + 0 = 2 + ♠ 0 + 3 = 2 + ⧖♠ = 3 ⧖ = 10 + ⨳ = 6 + 1 ∎ + 7 = 7 + 9⨳ = 7 ∎ = 9⌷ + 1 = 1 + 1 ⨳ + 1 = 7 + 2⌷ = 1 ⨳ = 86 + 1 = 6 + ⊞ 9 + 6 = ⍟ + 9⊞ = 1 ⍟ = 65 + 8 = 7 + ◊ 5 + ♠ = 1 + 9◊ = 6 ♠ = 58 + ♡ = 7 + 1 1 + 0 = ⧖ + 1♡ = 0 ⧖ = 0♡ + 6 = 6 + 8 7 + 7 = ∆ + 6♡ = 8 ∆ = 8∆ + 7 = 8 + 8 □ + 6 = 5 + 2∆ = 9 □ = 15 + 2 = 5 + ♠ 5 + 0 = 4 + ⊞♠ = 2 ⊞ = 14 + 6 = 6 + ♦ 7 + ⧉ = 3 + 9♦ = 4 ⧉ = 5Math-Drills.Com



Equalities (C)Find the value of each unknown.
7 + 0 = ⍟ + 6 5 + 6 = 9 + ▭
5 + 5 = 9 + ⊙ 1 + ⦿ = 5 + 1
6 + 2 = ◊ + 8 6 + ⧉ = 6 + 1
5 + ∇ = 6 + 2 6 + ⊙ = 7 + 7
1 + 2 = 0 + ⊞ ∇ + 3 = 4 + 0
2 + 0 = 1 + ⍟ ⊞ + 8 = 7 + 9
4 + ⦿ = 4 + 9 1 + ⊞ = 3 + 4
2 + 6 = 8 + ⍟ 8 + 0 = 5 + ⌂
8 + 8 = 8 + ⟣ 8 + 7 = ♡ + 8
0 + 1 = 0 + ∆ 4 + ⧖ = 2 + 4

Math-Drills.Com



Equalities (C) AnswersFind the value of each unknown.
7 + 0 = ⍟ + 6 5 + 6 = 9 + ▭⍟ = 1 ▭ = 25 + 5 = 9 + ⊙ 1 + ⦿ = 5 + 1⊙ = 1 ⦿ = 56 + 2 = ◊ + 8 6 + ⧉ = 6 + 1◊ = 0 ⧉ = 15 + ∇ = 6 + 2 6 + ⊙ = 7 + 7∇ = 3 ⊙ = 81 + 2 = 0 + ⊞ ∇ + 3 = 4 + 0⊞ = 3 ∇ = 12 + 0 = 1 + ⍟ ⊞ + 8 = 7 + 9⍟ = 1 ⊞ = 84 + ⦿ = 4 + 9 1 + ⊞ = 3 + 4⦿ = 9 ⊞ = 62 + 6 = 8 + ⍟ 8 + 0 = 5 + ⌂⍟ = 0 ⌂ = 38 + 8 = 8 + ⟣ 8 + 7 = ♡ + 8⟣ = 8 ♡ = 70 + 1 = 0 + ∆ 4 + ⧖ = 2 + 4∆ = 1 ⧖ = 2Math-Drills.Com



Equalities (D)Find the value of each unknown.
9 + 8 = 8 + ⌂ ⎔ + 4 = 3 + 5
6 + ⊙ = 8 + 6 3 + 2 = 4 + ∇
0 + ⌂ = 3 + 2 8 + ▭ = 8 + 9
6 + ⌓ = 4 + 7 ⍟ + 3 = 8 + 2
2 + 6 = 7 + ⟣ 5 + ⌂ = 2 + 4
8 + 3 = ⌂ + 8 ⨳ + 6 = 5 + 9
7 + 5 = 4 + ∇ 8 + 3 = ⧉ + 9
5 + 4 = ⌂ + 9 8 + 5 = ⌂ + 7
⌷ + 5 = 2 + 5 ⧉ + 8 = 7 + 7
♠ + 8 = 6 + 7 ⊞ + 9 = 9 + 8
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Equalities (D) AnswersFind the value of each unknown.
9 + 8 = 8 + ⌂ ⎔ + 4 = 3 + 5⌂ = 9 ⎔ = 46 + ⊙ = 8 + 6 3 + 2 = 4 + ∇⊙ = 8 ∇ = 10 + ⌂ = 3 + 2 8 + ▭ = 8 + 9⌂ = 5 ▭ = 96 + ⌓ = 4 + 7 ⍟ + 3 = 8 + 2⌓ = 5 ⍟ = 72 + 6 = 7 + ⟣ 5 + ⌂ = 2 + 4⟣ = 1 ⌂ = 18 + 3 = ⌂ + 8 ⨳ + 6 = 5 + 9⌂ = 3 ⨳ = 87 + 5 = 4 + ∇ 8 + 3 = ⧉ + 9∇ = 8 ⧉ = 25 + 4 = ⌂ + 9 8 + 5 = ⌂ + 7⌂ = 0 ⌂ = 6⌷ + 5 = 2 + 5 ⧉ + 8 = 7 + 7⌷ = 2 ⧉ = 6♠ + 8 = 6 + 7 ⊞ + 9 = 9 + 8♠ = 5 ⊞ = 8Math-Drills.Com



Equalities (E)Find the value of each unknown.
1 + ♠ = 6 + 1 ⨳ + 0 = 5 + 4
□ + 5 = 5 + 7 9 + ⌓ = 6 + 7
⨳ + 3 = 3 + 8 ∆ + 9 = 8 + 7
8 + ♠ = 4 + 5 ♦ + 5 = 7 + 3
8 + 0 = ♡ + 6 2 + 7 = 9 + ⨳
4 + 8 = 7 + ⌂ 4 + 6 = 4 + ▭
5 + ▭ = 3 + 3 ⦿ + 0 = 0 + 0
6 + 8 = ⌂ + 6 9 + 3 = 9 + ⌓
8 + 6 = 9 + ⌓ 0 + 1 = ⧖ + 0
7 + 0 = ▭ + 5 9 + ∇ = 7 + 8
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Equalities (E) AnswersFind the value of each unknown.
1 + ♠ = 6 + 1 ⨳ + 0 = 5 + 4♠ = 6 ⨳ = 9□ + 5 = 5 + 7 9 + ⌓ = 6 + 7□ = 7 ⌓ = 4⨳ + 3 = 3 + 8 ∆ + 9 = 8 + 7⨳ = 8 ∆ = 68 + ♠ = 4 + 5 ♦ + 5 = 7 + 3♠ = 1 ♦ = 58 + 0 = ♡ + 6 2 + 7 = 9 + ⨳♡ = 2 ⨳ = 04 + 8 = 7 + ⌂ 4 + 6 = 4 + ▭⌂ = 5 ▭ = 65 + ▭ = 3 + 3 ⦿ + 0 = 0 + 0▭ = 1 ⦿ = 06 + 8 = ⌂ + 6 9 + 3 = 9 + ⌓⌂ = 8 ⌓ = 38 + 6 = 9 + ⌓ 0 + 1 = ⧖ + 0⌓ = 5 ⧖ = 17 + 0 = ▭ + 5 9 + ∇ = 7 + 8▭ = 2 ∇ = 6Math-Drills.Com



Equalities (F)Find the value of each unknown.
1 + 9 = 8 + ⍟ 0 + □ = 2 + 2
⧖ + 8 = 5 + 7 7 + ⎔ = 2 + 9
3 + 5 = 7 + ⍟ ∆ + 6 = 9 + 5
3 + 8 = ∎ + 6 ⎔ + 0 = 8 + 1
4 + 6 = 4 + ⧖ 8 + 8 = ⎔ + 7
0 + 3 = 3 + ⨳ 9 + 7 = ⟣ + 9
3 + □ = 8 + 2 ▭ + 4 = 8 + 5
0 + ♠ = 8 + 1 9 + ⨳ = 9 + 9
3 + 0 = ▭ + 0 7 + ⌓ = 9 + 7
9 + 2 = ⌓ + 5 5 + 7 = 5 + ∎
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Equalities (F) AnswersFind the value of each unknown.
1 + 9 = 8 + ⍟ 0 + □ = 2 + 2⍟ = 2 □ = 4⧖ + 8 = 5 + 7 7 + ⎔ = 2 + 9⧖ = 4 ⎔ = 43 + 5 = 7 + ⍟ ∆ + 6 = 9 + 5⍟ = 1 ∆ = 83 + 8 = ∎ + 6 ⎔ + 0 = 8 + 1∎ = 5 ⎔ = 94 + 6 = 4 + ⧖ 8 + 8 = ⎔ + 7⧖ = 6 ⎔ = 90 + 3 = 3 + ⨳ 9 + 7 = ⟣ + 9⨳ = 0 ⟣ = 73 + □ = 8 + 2 ▭ + 4 = 8 + 5□ = 7 ▭ = 90 + ♠ = 8 + 1 9 + ⨳ = 9 + 9♠ = 9 ⨳ = 93 + 0 = ▭ + 0 7 + ⌓ = 9 + 7▭ = 3 ⌓ = 99 + 2 = ⌓ + 5 5 + 7 = 5 + ∎⌓ = 6 ∎ = 7Math-Drills.Com



Equalities (G)Find the value of each unknown.
⍟ + 6 = 5 + 9 9 + 7 = ⍟ + 8
7 + 1 = 2 + ⌓ 1 + 0 = 1 + ⍟
⎔ + 9 = 9 + 9 0 + 2 = ⌂ + 2
0 + ⊙ = 0 + 2 6 + 9 = ♠ + 8
7 + 6 = ∇ + 7 7 + ⦿ = 0 + 7
9 + ⍟ = 5 + 8 9 + 1 = ▭ + 1
▭ + 4 = 2 + 5 5 + 7 = 8 + ∇
3 + 3 = 5 + ⊞ 9 + ∇ = 9 + 9
9 + 2 = 3 + ⧖ 2 + 1 = ⧖ + 2
⊞ + 9 = 3 + 6 ⊙ + 0 = 0 + 3
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Equalities (G) AnswersFind the value of each unknown.
⍟ + 6 = 5 + 9 9 + 7 = ⍟ + 8⍟ = 8 ⍟ = 87 + 1 = 2 + ⌓ 1 + 0 = 1 + ⍟⌓ = 6 ⍟ = 0⎔ + 9 = 9 + 9 0 + 2 = ⌂ + 2⎔ = 9 ⌂ = 00 + ⊙ = 0 + 2 6 + 9 = ♠ + 8⊙ = 2 ♠ = 77 + 6 = ∇ + 7 7 + ⦿ = 0 + 7∇ = 6 ⦿ = 09 + ⍟ = 5 + 8 9 + 1 = ▭ + 1⍟ = 4 ▭ = 9▭ + 4 = 2 + 5 5 + 7 = 8 + ∇▭ = 3 ∇ = 43 + 3 = 5 + ⊞ 9 + ∇ = 9 + 9⊞ = 1 ∇ = 99 + 2 = 3 + ⧖ 2 + 1 = ⧖ + 2⧖ = 8 ⧖ = 1⊞ + 9 = 3 + 6 ⊙ + 0 = 0 + 3⊞ = 0 ⊙ = 3Math-Drills.Com



Equalities (H)Find the value of each unknown.
⧖ + 7 = 6 + 9 3 + 2 = 0 + ⊙
∆ + 9 = 9 + 2 5 + 3 = 4 + ⟣
6 + 1 = 3 + □ 3 + 4 = 7 + ∎
8 + 4 = 5 + ⎔ 0 + ⧉ = 8 + 1
3 + 2 = ⍟ + 5 1 + ⦿ = 7 + 3
2 + ⌂ = 3 + 1 4 + 9 = 9 + ⌷
9 + 2 = 9 + ⌓ 8 + 9 = ♠ + 8
⧖ + 6 = 6 + 6 5 + ∎ = 2 + 3
4 + ♦ = 0 + 6 3 + 3 = 3 + ∎
6 + 9 = 9 + ▭ 2 + 7 = 2 + ⧖
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Equalities (H) AnswersFind the value of each unknown.
⧖ + 7 = 6 + 9 3 + 2 = 0 + ⊙⧖ = 8 ⊙ = 5∆ + 9 = 9 + 2 5 + 3 = 4 + ⟣∆ = 2 ⟣ = 46 + 1 = 3 + □ 3 + 4 = 7 + ∎□ = 4 ∎ = 08 + 4 = 5 + ⎔ 0 + ⧉ = 8 + 1⎔ = 7 ⧉ = 93 + 2 = ⍟ + 5 1 + ⦿ = 7 + 3⍟ = 0 ⦿ = 92 + ⌂ = 3 + 1 4 + 9 = 9 + ⌷⌂ = 2 ⌷ = 49 + 2 = 9 + ⌓ 8 + 9 = ♠ + 8⌓ = 2 ♠ = 9⧖ + 6 = 6 + 6 5 + ∎ = 2 + 3⧖ = 6 ∎ = 04 + ♦ = 0 + 6 3 + 3 = 3 + ∎♦ = 2 ∎ = 36 + 9 = 9 + ▭ 2 + 7 = 2 + ⧖▭ = 6 ⧖ = 7Math-Drills.Com



Equalities (I)Find the value of each unknown.
∇ + 6 = 7 + 7 0 + ⧖ = 1 + 3
8 + 0 = ∎ + 5 ∇ + 0 = 0 + 0
∎ + 3 = 2 + 7 3 + ⌷ = 4 + 8
∎ + 5 = 6 + 4 6 + ♠ = 4 + 9
∎ + 7 = 9 + 5 8 + 0 = 8 + ⊙
5 + 9 = ⦿ + 8 0 + 4 = ⌷ + 2
9 + ♦ = 8 + 4 3 + ∆ = 6 + 5
3 + 9 = 4 + ♦ 6 + 5 = □ + 7
0 + 2 = 2 + □ 8 + ♡ = 9 + 8
8 + 7 = 6 + ⍟ 8 + 3 = 7 + ♦
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Equalities (I) AnswersFind the value of each unknown.
∇ + 6 = 7 + 7 0 + ⧖ = 1 + 3∇ = 8 ⧖ = 48 + 0 = ∎ + 5 ∇ + 0 = 0 + 0∎ = 3 ∇ = 0∎ + 3 = 2 + 7 3 + ⌷ = 4 + 8∎ = 6 ⌷ = 9∎ + 5 = 6 + 4 6 + ♠ = 4 + 9∎ = 5 ♠ = 7∎ + 7 = 9 + 5 8 + 0 = 8 + ⊙∎ = 7 ⊙ = 05 + 9 = ⦿ + 8 0 + 4 = ⌷ + 2⦿ = 6 ⌷ = 29 + ♦ = 8 + 4 3 + ∆ = 6 + 5♦ = 3 ∆ = 83 + 9 = 4 + ♦ 6 + 5 = □ + 7♦ = 8 □ = 40 + 2 = 2 + □ 8 + ♡ = 9 + 8□ = 0 ♡ = 98 + 7 = 6 + ⍟ 8 + 3 = 7 + ♦⍟ = 9 ♦ = 4Math-Drills.Com



Equalities (J)Find the value of each unknown.
6 + ∎ = 1 + 5 6 + 3 = ∆ + 4
2 + 8 = □ + 2 2 + ◊ = 3 + 1
4 + ◊ = 9 + 4 0 + 9 = 9 + ♠
7 + ∆ = 6 + 2 4 + ♦ = 7 + 4
8 + ⧖ = 7 + 4 7 + 6 = 9 + ⨳
▭ + 4 = 8 + 5 6 + 6 = 3 + ∎
⍟ + 7 = 9 + 7 7 + 3 = 8 + ⊙
0 + ∇ = 1 + 0 1 + ⌷ = 6 + 4
⨳ + 0 = 6 + 0 2 + 1 = ⨳ + 0
2 + 9 = 6 + ♦ 2 + ⨳ = 8 + 0
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Equalities (J) AnswersFind the value of each unknown.
6 + ∎ = 1 + 5 6 + 3 = ∆ + 4∎ = 0 ∆ = 52 + 8 = □ + 2 2 + ◊ = 3 + 1□ = 8 ◊ = 24 + ◊ = 9 + 4 0 + 9 = 9 + ♠◊ = 9 ♠ = 07 + ∆ = 6 + 2 4 + ♦ = 7 + 4∆ = 1 ♦ = 78 + ⧖ = 7 + 4 7 + 6 = 9 + ⨳⧖ = 3 ⨳ = 4▭ + 4 = 8 + 5 6 + 6 = 3 + ∎▭ = 9 ∎ = 9⍟ + 7 = 9 + 7 7 + 3 = 8 + ⊙⍟ = 9 ⊙ = 20 + ∇ = 1 + 0 1 + ⌷ = 6 + 4∇ = 1 ⌷ = 9⨳ + 0 = 6 + 0 2 + 1 = ⨳ + 0⨳ = 6 ⨳ = 32 + 9 = 6 + ♦ 2 + ⨳ = 8 + 0♦ = 5 ⨳ = 6Math-Drills.Com
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